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CODING-DECODING

The term Coding-Decoding primarily relates with message sent in secret form which can not be
understood by others easily. Coding, therefore, means rule or method used to hide the actual
meaning of a word or group of words and decoding means the method of making out the actual
message that 1s disguised 1n coding.

Category 1
In this category of questions, a word 1s coded by simplychanging the order of letters of the word.
% EXAMPLES %
Ex.1 In a code language if TRAINS is coded as RTIASN, how PISTOL will be coded in the same

language ?
(A) SITLOP (B) IPSTLO
(C) SIPTLO (D) IPTSLO
Sol. If we compare the basic word {TRAINS} with the coded word {RTIASN}, we would see

that the letters used 1n the word are same as in the basic word but their order of placement has
been changed. Letter T at first position of basic word has been placed at second position in the
coded word & letter R at second position has been placed in the first position.

It means that in this question, letters of the basic word have been interchanged 1.e_, first letter with
second, third with the fourth and so on. And thus we get the coded word. In this code language
word, PISTOL will be coded as IPTSLO. Hence, option (D) 1s our answer.

Category 11

In this category of questions, letters of a word are substituted for either a new letter or a numeric.
And the same substitution helps to find out the coding of the word in questions. This substitution
of letters may either be direct or in a jumbled up fashion.

(A) Direct Substitution

Ex.2 In a code language 1f SUGAR 15 coded as PKLTN and TEA 1s coded as QGT, how
would you code GREAT in the same code language ?

(A) ENGTP (B) LNGTK
(C) LNGTQ (D) LNGQT
Basic Word Coded Word
SUGAR PEKLTN
Sol. Ll | | | | ‘
Basic Word Coded Word

TEA QGT
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Ex.J3

Sol.

Ex4

Sol.

Here we see that S i1s substituted for P, U for K, G for L, A for T & R for N. And in the word
TEA. T 1s substituted for Q, E for G and A for T. Now we find that coding for letter A in SUGAR
1s T and coding for letter A in TEA 1s also T. This implies that substitution of letter in coded word
takes place in the same order as in basic word. In simple words, in the word SUGAR letter § in
the basic word has been substituted for a new letter and coded at first place in the coded word,
U at the second place, G at the third place and so on.

When letters of a word are substituted for the new letters and are placed in the coded
word at the same position as in the basic word then this method of substitution is called
direct substituion.

Therefore, code for GREAT will be LNGTQ. Hence, option (C) will be our answer.

In a code language 1f TEARS i1s coded as VWXYZ and MAN 1s coded as 123 then how would
you code RESENTMENT 1n that language ?

(A) YWZW3IVIW3Y (B) YWZIWVIW3Y
(C) YWZW3IVIWY3 (D) YWZW3IVIW3V

This questions is of direct substitution method. Letters of the basic words are substituted as

under.
BasicWord: T E A b}

R
] L l L 4
Y

Coded Word: V W £

X
Basic Word: M A N

w v v
Coded Word : 1 2 3
Therefore, the coding for the word RESENTMENT will be YWZW3VIW3V. Hence, option (D)

15 OUr answer.

If TEARS 1s coded as VWXYZ, then how would you code BEAS i1n that language 7
(A)YWXZ (B) VWXZ
(C) MWXZ (D) WVZY

Basic Word : lj lI:. f f f

CodedWord: V WX Y Z

Using the same coding pattern for BEAS, we get W for E, X for A & Z for S but code for B
can not be determined as it 15 absent in the basic word. Now we shall take the help of options.
In option (A) we get W, X, Z for E, A & S respectively which 1s correct but coding for B can
not be Y as it 1s the coe for R. Likewise in option (B). V can not be coded for B as 1t 15 the code
for T. In option (C) we see that code for B 1s M which seems to be correct as 1t has not been
used as a code for any of the letters in basic word. Hence, code for BEAS would be MWXZ.
Therefore option (C) 1s our answer.



Page 3

(B) Substitution in mixed up fashion

Ex.5

Sol.

Rule applied 1n this type of questions follows the same pattern as used in type (A) — Direct
substitution but  with slight modification. Here also in this type each letter of basic word 1s
substituted for a new letter but 1t may not necessarily be placed in the same position in coded word
as it occupies in the basic word. In simple words, it implies that coded letter at first position in
basic word does not necessarily occupy the first position in the coded word. It can be placed at
any place in the coded word.

In a code language, 1f BEAT 1s coded as 5642 and SWEET 1s coded as 66912, how would you
code TEASE ?

(A) 96162 (B) 56264
(C) 96625 (D) 55296
Basic Word Coded Word
BEAT 5642

| 1]
Basic Word Coded Word
SWEET 6691 2

Coding pattern used in the above question substitution for the letters has not been used directly.
Code for E seems to be 6 in BEAT whereas it carries code 9 and | in the word SWEET which
apparently appears to be incorrect because in substitution method same letter carries same code
even if it appears in different word.

Now in word SWEET letter E appears twice and in its coding numeric 6 appears twice. Thus it
is confirmed that code for E is 6. It may be concluded from the coding pattern used here that letters
of the words BEAT and SWEET have been substituted for numeric in jumbled up form. Word
BEAT and SWEET share common letters E and T and their coding share common numeric 6 and
2. Therefore, E 1s coded as 6 and T 1s coded as 2. It means that the code for TEASE will definitely
have 6 6 & 2 for E, E and T. Code for A and S has yet to be found out.

Now from word BEAT and SWEET again, we see that code for A in word BEAT should be either
5 or 4 (leaving 6 & 2 for E and T). Similarily, code for S should be etther 9 or | (leaving 6 &
2 for E and T). We shall not take the help of options to answer the code for TEASE.

(A) It cannot be the code for TEASE as code for A (5 or 4) is not available.
(B) It cannot be the code for TEASE as code for S (9 or 1) 1s not available.
(C) It may be the code for TEASE as besides 662 code for EE and T, we get 5 probable code for

A and 9 probable code for S. Hence, option (C) is our answer.

Category 111

Ex.6

In this category, rule of coding 1s of entirely different type from what has been discussed so far
in category [ and IL. IN this type, word 1s coded, replacing each letter of the word by a new word
from the alphabets (A ... Z) on the basis of a particular method. It has been explained in the
following examples -

If TEMPLE 1s coded as VHQURL, how would you code CHURCH ?
(A) EKYWIO  (B) EKUWIO
(C) EKYWIN (D) EKYWIJO
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Sol.

Ex.7

Sol.

Basic Word Coded Word

| 1||

TEMPLE YVHQ URL

| ]

Code for Tis V, for E it 15 H, for M 1t 15 Q. It may be noticed from here that letters of TEMPLE
have been replaced by new letters from the alphabets.

There 1s a gap of one letter between T and V, gap of two letters between E and H, gap of three
letters between M & ) and so on in the alphabets.

Therefore, coding for CHURCH 1s

C H U R C H
+1 +2 +3 +4 +5 +6
E K Y W I 0
Hence (A) 15 our answer.

If TEMPLE 1s coded as VHOQNIA, how would you code CHURCH ?

(A) EKYWI (B) EKYQZD

(C) EKYPZD (D) EKYQWD
Coding for TEMPLE 1s

T E M P ¥ E

+] +2 +3 -1 -2 -3

\' H Q N | A

Here, the first half of the letters of the word TEMPLE have been replaced with new letters from
the alphabets with a gap of 1, 2 & 3 letters respectively in forward direction, and second half of
the letters of the word have been replaced by new letters from the alphabets witha gap of' 1, 2
and 3 in backward direction. Hence, code for word CHURCH would be EKYPZD. Hence, (C)
1S OUr answer.

Directions : (Ex. 8 to 10)

The number in each question below is to be codified in the following code :

Digit | 7]2]|1|5]13]9]8]6]4
Letter | W] L|M|S|I1]|N|D|T]B
Ex.8 184632
(A) MDIJBSI (B) MDIBIL
(C) MDIBWL (D) MDBIJIL
Sol. Asgiven l iscodedas M, 8asD,4asB 6as), 3asland 2 as L. So, 184632 1s coded as
MDBIJIL.
Ex.9 87934]

(A)DWNIBS  (B) DWNBIM
(C) DWNIBM (D) NDWBIM
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Sol.

Ex.10

Sol.
Ex.11

Sol.

Ex.12

Sol.

Ex.13

Sol.

Ex.14

Sol.

Asgiven 8iscodedas D, Tas W, 9as N, 3as 1 4 as B and 1 as M. So, 879341 1s coded
as DWNIBM.

64928
(A) JBNLD (B) JBLND
(C) BINLD (D) DBNLS

As given ,6i1scodedas ), 4asB,9as N, 2as L and § as D. So, 64928 15 coded as JBNLD.

In a certain code, 15789 15 written as AXBTC, 2346 1s written as MPDU. How 15 23549 written
in that code ?

(A) MPXDT (B) MPADC

(C) MPXCD (D) MPXDC

The numbers are coded as shown :
1 5 7 8 9 2 3 4 6
AXBTCMPDU
ie_ 2asM JasP 5as X 4asDand9 as C. So, 23549 is coded as MPXDC.
In a certain code, 15789 15 written as XTZAL and 2346 i1s written as NPSU. How 13 23549
written in that code ?
(A) NPTUL (B) PNTSL
(C) NPTSL (D) NBTSL

The numbers are coded as shown :
1 5 7 8 9 2 3 4 6
X T Z A L NP § 1
le,2asN, 3asP 5asT 4as8S and 9 as L. So, 23549 1s coded as NPTSL.
In a certain code, 33946 is coded as PPOAL and 1987 is coded as ROSE. How 15 94678 coded
in that code ?
(A) ROSEP (B) OALES
(C) POALE (D) OSEPL

The numbers are coded as shown :
3 9 4 6 1 8§
P O AL R &8 &
1e.9as 0 4asA 6asl, 7Tas Eand 8 as 5. So. 94678 1s coded as OALES.
If in a certain language, 943 1s coded as BED and 12448 1s coded as SWEET, how 15 492311
coded in that language ?
(A) EDSWBS (B) TSWBDD
(C) DSWTEE (D) EBWDSS

The number are coded as shown :
9 4 3 1 2 8§
B ED S WT
e, 4asE 9asB 2asW 3asDand I as §, So, 492311 1s coded as EBWDSS.
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Ex.15 If MOBILITY 1s coded as 46293927, then EXAMINATION 1s coded as
(A) 45038401854 (B) 56149512965
(C) 57159413955 (D) 67250623076

So. LetA=1B=2C=3, . X=24Y=2527=26.
Then, M=13=1+3=4 0=15=1+5=6:
L=12=1+2=3 T=20=2+0=2;
Y=25=2+5=1.
So, MOBILITY = 46293927
Similarly, EXAMINATION = 56149512965.

Ex.16 If MASTER is coded as 411259, then POWDER will be coded as
(A) 765439 (B) 765439
(C) 765459 (D) 765549
Sol. LetA=1,B=2C=3, .,Z=26.
Now, M =13 =4
(remainder obtained after dividing by 9);
S=19=1
(remainder obtamned after dividing by 9 twice);
T=20=2
(remainder obtained after dividing by 9 twice);
R=18=9
(remainder obtained after dividing by 9).
So, MASTER = 411259.
Similarly, POWDER =755450 .
Ex.17 In a certain code, 15789 is written as EGKPT and 2346 is written in ALUR. How is 23549
written in that code ?7
(A)ALEUT (B) ALGTU
(CYALGUT (D) ALGRT

Sol.  In the given codes, the numbers are coded as shown :
1 5§ 7 & 9 2 3 4 b
EG K PT A L UR
ie_ 2asA JasL SasG 4asUand 9 as T. so, 23549 is coded as ALGUT.
Ex.18 In a certain code, a number 13479 1s written as AQFJL and 5268 1s written as DMPN. How is
396824 written in that code ?
(A) QLPNKI] (B) QLPNMF
(C) QLPMNF (D) QLPNDF

Sol.  In the given codes, the numbers are coded as shown :
1 3 4 7 9 5§ 2 6 8
AQ FJ] L DMPN
le_ 3as Q) 9asl 6as P Bas N, 2asMand 4 as F So, 396824 15 coded as QLPNMEFE.
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EXERCISE

Directions :
In each of the following questions below, find out the correct answer from the given alternatives.

0.1 In a certain code, INSTITUTION 15 written as NOITUTITSNIL How 15 PERFECTION written
in that code 7

(A) NOICTEFREP (B) NOITCEFERP
(C) NOITCEFRPE (D) NOITCEFREP

Q.2 In a certain code, GIGANTIC 15 written as GIGTANCI. How 18 MIRACLES written in that code
9

(A) MIRLCAES (B) MIRLACSE
(C) RIMCALSE (D) RIMLCAES

(0.3 In a certain code, GOODNESS is coded as HNPCODTR. How i1s GREATNESS coded in that
code 7

(A) HOFZUODTR (B) HQFZUMFRT
(C) HQFZSMFRT (D) FSDBSODTR
Q.4 Inacertain code, EXPLAINING is written as PXEALNIGNI. How is PRODUCED writtenin that
code ?
(A) ORPBEUDEC (B) ROPUDECD
(C) ORPUDECD (D) Mone of these
Q.5 In a certain code, RIPPLE 1s written as 613382 and LIFE 1s written as 8192. How 1s PILLER
written in that code ?
(A) 318826 (B) 318286
(C) 618826 (D) 328816

Q.6 If PAINTER 1s written 1n a code language as NCGPRGP, then REASON would be written as -
(A) PCYOMN (B) PGYOQMN
(C) PGYUMP (D) PGYUPM
Q.7  In a certain code SOCIAL i1s written as TQFMFR, then how you will code DIMPLE ?
(A) EKPTQK (B) EKPQPJ
(C) EKPSPI (D) EKPSOH
Q.8 If CARPET is coded as TCEAPR, then the code for NATIONAL would be -
(A) NLATNOIA (B) LANOITAN
(C) LNAANTOI (D) LNOINTAA

0.9 If PORTER 1s written as QNSSF(Q), then BRIGHT would be coded as -

(A) CQIFIS (B) CNIHIS
(C) CQIFGS (D) CNJHIU

.10 If FESTIVAL 15 coded as MBWIUTEG, then OPIUM would be coded as -
(A) NOHTL (B) NTHNO

(C) NVIQP (D) MUIPO
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Q.11

Q.12

Q.13

Q.14

Q.15

Q.16

Q.17

Q.18

Q.19

If LINGER 15 123456 and FORCE 1s 56789, then FIERCE 1s -

(A) 345667 (B) 456678

(C) 345677 (D) 556789

If CLOTHES 1s EXHAUST and THRICE is STABLE, then SHIRT is -
(A) BLUSH (B) STAUL

(C) THULE (D) BLASH

If PICTURE 1s coded as tuvwxyz, then PATCH would be coded as -
(A) wizyv (B) twxyz

(C) tgwvm (D) mtuvw

In a code language 1s POSE 1s coded as OQNPRTDEF, then TYPE will be coded as -

(A) SUXZOQFD (B) SUXZQOFD

(C) SUXZOQDF (D) SUXZQODE

If ROSE 15 coded as 6821, CHAIR 15 coded as 73456 and PREACH 15 coded as 961473, what
will be the code for SEARCH ?

(A) 246173 (B) 214673

(C) 214763 (D) 216473

In a certain code, PRODUCTS 1s written as NPMBSARQ. How is COMPREHENSION written
in that code ?

(A) AMKNPCFCLOMLOQ

(B) AMKNPCFCLOQGML

(C) AMKNPCFCLQGNL

(D) AMKNPCFCKOML

In a certain code, BOY is written as $* e and HOUR is written @*£0. How is RUBY written
in that code ?

(A)DES » (BYOS £

(C)eSE£0 (D)e £S5 0

In a certain code language, QUEUE 1s wniten as Q 22, and CHURCH 1s written as 1 UR1. Which
of the following would be most appropriate code for BANANA in that language ?

(A) BSAS (B) 5N5A

(C) B55A (D) BASASA

In certain code, BOXER 1s written as AQWGQ. How VISIT is written in that code 7

(A) UKRKU (B) UKRKS

(C) WKRKU (D) WKRKS



Page 9

Directions (20-24) :
The word 'FEATURE' has been coded in five different ways. Same codes have been used for the word
"STRAIGHT "but not in the same order. Match 1dentical parts.

FEATURE STRAIGHT
Q.20 GFBUVSF (A) TVUENMOB
Q.21 EFZUTSDX (B) THGIARTS
Q.22 EFTARUE (C) TUSBJHIU
Q.23 GGDXZXL (D) TSARGITH
Q.24 ERUTAEF (E) RUQBHHGU

Directions (25-28) :

In the following questions some capital alphabets are written in a row, below them their coding have been
given. Now in gquestions a particular word has been coded in a particular manner using codes as given
below the capital letters. You have to understand the pattern of coding and have to answer the question
asked subsequently.

AlB|CIDIE|FlGIH] I | L{MIN] O] P JOIR]S|TIU[ VW [X] Y]Z
uflalZ]v]b]w]3fo]alafs]x] 5 z]a]cldlE]7]e]c][b]9]:]p]a

.25 If DEER 1s to vw8 and TOSS 1s to efe, then DOTT 1s to -
(A)ver (B)bee (C)ber (D) vrb
Q.26 1If MAIDEN is to yux2b6, then FIBRES is to-

(A) b428w8 (B) b4288w
(C) b42dbe (D) b42bde
Q.27 If MAY 1s to yzqaiq, then TIE 15 to -
(A) Trixwy (B) Trixvw
(C) Trixbw (D) Trixwb
Q.28 If LONDON is to 5¢6225, then EUROPE is to-
(A) wh7edw (B) wh7z6w
(C) br76ch (D) wh76¢cb

Q.29 If DASH is to 2 a 84, then SMASH is to -
(A)75u7t (BeyagB4
(C)8zqge3l (D)8zged

(.30 If BAFFLE 1s to aatdex, then DANGER 1s to-
{A) vacx49 iB) vacxh9
{C) vacxhi (D) vacxhr

Q.31 If FASHION is to z64t7uw, then POSITION is to-
(A) 264e476¢ (B) 264e47¢6
(C) c674e462 (D) c674edz6

Q.32 If MAIDEN is to uzvdzb, then DANGER is to-
(A) vuz3b8 (B) 8b3zuv
(C) uv3z8b (D) uv3zbg
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Directions (33-42) :
In each of the following questions, a word has been coded and 1ts code 1s written against it to the left of
the sign ball. The word to the right of it has been coded on the same principle and the code is given as
one of the four alternatives under it. To find the answer you have to consult the matching of the small letters
against the capital letters as given below and arrive at the principle involved in the coding. The coding in each
question has not necessarily been done on the same pattern. Find the correct alternative in each case and
mark your answer on the answer sheet.

A B CDEFGHTIIJK L M

nldj) xkyit1 bfatz

N OPQR STU V WX Y z

w vgr omephsgue

Q.33 HEART : bklmp :: NERVOUS : ?
(A) wintrid (B) vigovbn
(C) wxohvpm (D) vkmsghc
Q.34 SERMON : mymzwy :: FATHER : ?
(A) ylpbkm (B) xemyjr
(C) kepiyym (D) kncixo
Q.35 SOCIAL : vmbdtn :: OPERATOR : ?
(A) wvjremwr (B) grtkmlbgm

(C) vgxoncvo (D) gvoxcnov
.36 RETURN : okchov :: EQUATION : 7
(A) xopletvy (B) krhnpbgqw

(C) xrpncbvw (D) kohlpfgv
(0.37 SILENT : laswvb :: COMB : 7

(A) ewam (B) cuyk
(C) dvzl (D) lwtn
Q.38 NERVOUS : xyprwgn :: AGHAST : 7
(A) nyinme (B) zkyzom
(C) liblep (D) ozjond
Q.39 MASTER : wlcpkm :: SELDOM : ?
(A) ckzxqw (B) mxyvz
(C) ckzxwg (D) nyvkwa
Q.40 CLAIM : dinbz :: BORDER : 7
(A) lovxgv (B) jovxo
(C) Ilvojxo (D) vhox)
Q.41 CEMENT : jkwjzm :: MATURE : 7
(A) wlpern (B) wiphmk

(C) temer) (D) zncpox
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Q.42 QUICK : socch :: BREED : 7

(A) kpwyi
(C) loxx)

(B) mnywk
(D) mpyyk

Directions (43-75) :
In each of the following questions, find the correct answer from the given alternatives.

.43

0.44

Q.45

Q.46

Q.47

Q.48

Q.49

Q.50

Q.51

Q.52

If SCIENCE 1s coded as UFMITIM, GENE will be coded as :

(A) HGQI
(C) THRI

(B) THRJ
(D) IHSJ

If NEW ZEALAND is coded as

be coded as :

(A) XQ*%# + 7T @ (B) XQ* 7+ B@
C)XQ*#+B @ (D)XQ*#+B+@
If MEDICO 1s coded as PBGFFL, DOCTOR wil be coded as :

@Q + 7Q*#*@x, then DEALWON may

(A) GLFQRO (B) GLFQLR

(C) GLFQLS (D) GRFWLQ

If SYSTEM 1s coded as 131625, TERMS may be coded as :
(A) 62251 (B) 62451

(C) 64251 (D) 62415

If SUGAR 1s coded as RPKLU, GURUS may be coded as :
(A) KPUPR (B) RPVPR

(C) LKRKP (D) PKVKR

If SYSTEM 1s written as SYSMET, and NEARER as AENRER, FRACTION will be coded as

(A) ARFITOON (B) CARFNOIT

(C) ARFITCNO (D) NOITCARF

If BEST 1s written as VYMN, DTCP may be written as :
(A) WNVI] (B) XNWI

(C) XMW] (D) XNWL

If BRASS 15 coded as 63516, SIR will be coded as :
(A) 631 (B) 315

(C) 536 (D) 617

If BEAT 15 written as GIDV, SOUP may be written as :
(A) YSXR (B) ZSYS

(C) XSYSR (D) XSXR

If BROWN is coded as ZPMUL, VIOLET will be coded as :

(A) TGMICR
(C) TGMICQ

(B) SGMJCQ
(D) TGWCQ
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Q.53

Q.54

Q.55

Q.56

Q.57

Q.58

Q.59

Q.60

Q.61

Q.62

Q.63

Q.64

If MADRAS 1s coded as TBSEBN, NEW DELHI will be coded as :
(A) INKFEXFO (B) JIMFFUFO
(C) IMFEXFO (D) JIMFEXEP

If MADRAS 1s coded as NZEQBR, CALCUTTA will be coded as :

(A) OZMBVSUB (B) DZMBVSUZ

(C) DZMBUUZ (D) BBKBTUSB

If If OLYMPICS is coded as PMZNOHBR, and JUMP is coded as KVLO, COMPUTER will
be coded as :

(A) DPNQVUFS (B) DPNQTSFQ

(C) DPNQTSDQ (D) BNLOTSD(Q

Using the above procedure for coding, AUGUST will be coded as :

(A)BVHTRU  (B) BVHVTU
(C)BVHVRS  (D)BVHTRS

If ZUBIN 15 coded as ATCHO, MEHTA will be coded as :

(A) NDIUB (B) NDISB
(C) NDGSB (D) NDHSI
If HINDU is coded as 61257, and MAN is coded as 924, INDIRA will be coded as :
(A) 454626 (B) 594921
(C) 452787 (D) 884572

If NOCIE is written as $ @ # 7 %, and SCENT is written as # % * * (@, then COIN will be coded
as:
(A) #78@ (B) #2@%

(C) @"?% (D) None of these

If EQOKYO stands for DOLLAR, and QQXMBP stands for POUNDS, the code for MARK
will be-

(A) NCUO (B) NCUJ

(C) NCQI (D) NCPH

If AMERICA is coded as RAIMCEA. BRITAIN is coded as TBARIIN. INDIA will be coded
as :

(A) DINIA (B) DIINA

(C) DINAI (D) IDNA

If AMRITSAR 1s coded as MAIRSTRA, CALCUTTA will be coded as :
(A)ACLCTUAT (B) LACTUCAT
(C)ACCLTUAT (D)ACCLUTAT

If'in a code language REMOTE 15 coded as ROTEME, which word would be coded as PNIICC?
(A) PNIICC (B) PICCIN

(C) PINCIC (D) PICNIC

I in certain code language, UTENSIL 1s coded as WVGPUKN, which word would be coded as
DMSFXG ?

(A) BKQEVE (B) BKOQDWE

(C) BKQDWF (D) BKQDVE
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Q.65

Q.66

Q.67

Q.68

Q.69

Q.70

Q.71

Q.72

Q.73

Q.74

Q.75

If FLARE 18 coded as 21, 15, 2, 9, 22,
how would BREIF be coded in the same language?

(A) 25,9, 22, 21, 18

(B) 5,37,11,19, 13

(C) 13,19,11, 37, 5

(D) 25, 9, 22, 18, 11

If 1n a code language CIRCLE i1s coded as XRIOXV, how would you code SQUARE in the same
language ?

(A) HIFZIV (B) HIFZIX

(C) HIFZLX (D) HIFZVI

If POLITICS 1s coded as OPILITSC, how will ARTICLES be coded in that language ?
(A) RAITLCES  (B) RAITLCSE
(C)ARITLCSE (D) RAITLECS

If FASHION 1s coded as NFOAISH, how will TRITIES be coded in that language ?
(A) STERITI (B) STERIIT
(C) STERTI (D) STRENT

If CRICKETER is coded as DQJBLDUDS, PLAYER will be coded as -
(A) QMBZFS  (B) OMZZDS
(C) QKBXFQ (D) QKBZDS

If REACHING TOMORROW 1s coded as HOJIDBFS XPSSPNPU, UIHIMG EFZBMFE means

(A) TRAINS DELAYED
(B) FLIGHT DELAYED
(C) CANCEL JOURNEY
(D) FLIGHT CANCEL

If in a certain code MICHAEL 15 coded as JGBHBGO. 1n this code AMERICA will be written
a5

(A) XKDRJEC  (B) XKDRKED
(C) XKDRJED (D) XKERJED

If ACNE is coded as 3, 7, 29, 11, BOIL will be coded as :
(A) 5,31, 21,25 (B)S5, 31,19, 25
(C) 5,29,19, 25 (D)5, 29, 19, 27

If FULFNHW 15 the code for CRICKET, then EULGH 1s the code for which word 7
(A) PRIDE (B) BRIDE

(C) BLADE (D) BLINS

It ELCSUM 15 the coe for MUSCLE, which word has the code LATIPAC ?

(A) CONFESS (B) CONDUCE

(C) CAPITAL (D) CAPRICE

FRIEND 1s coded as HUMITK, how i1s CANDLE written in that code ?
(A) EDRIRL (B) DCQHQV

(C) ESIFME (D) FYOBOC
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Directions : (Q. 76 to 84)
In a certain language, the numberas coded as follows :

413]92]2]1]6) 718151210
AJWIPIQIR]|)BJIE]|S|G|ITIM

How are the following figures coded in that code ?

Q.76 421665
(A)AQRBBG  (B) PQBRSE
(C) ASGRBE (D) QRPSSE

Q.77 67825
(A) BESGJ (B) BSEJIG
(C) BESIG (D) BSEG]
Q.78 55218
(A) GIGRS (B) GGISR
(C) GGRIS (D) GGIRS
Q.79 91352
(A) PRWGJ (B) PRGW]
(C) RPGW] (D) RGPW]J
Q.80 720435
(A)EJIMAGW  (B) MAGJRW
(C)EIMAWG (D) MGARJW
Q.81 6650
(A) BBMG (B) BBGM
(C) BGMB (D) BMGB
Q.82 3215
(A) WIRG (B) WIGR
(C) IWRG (D) IWGR
Q.83 67852
(A) BSEJG (B) BESIG
(C) BSEGJ (D) BESGJ
Q.84 439216

(A)PQRWAB  (B) AQRWPB
(C)APWQRB (D) AWPQRB

Directions: (Q. 85 1o 91)
In a certain language, 36492 is written as SMILE and 058 is written as RUN. How are the
following figures coded in that language ?

Q.85 33980

(A) SSLNR (B) SSLEN

(C) SLSNR (D) Can't be determined
Q.86 6458

(A) MUIN (B) MINU

(C) INUM (D) MIUN
Q.87 92486

(A) LEIMN (B) ELINR

(C) LEINM (D) EILNM
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Q.88

Q.89

Q.90

Q.91

54324
(A) SIUEI
(C) USIIE

90089
(A) NLLRN
(C) LLRRN

3425

(A) SEIU
(C) SRUI
29463

(A) ELISM
(C) LIMSE

(B) SIUE
(D) SIEU

(B) UISEI
(D) UISIE

(B) LRLNN
(D) LRRNL

(B) ELIMS
(D) EILMS
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ANSWER KEY
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